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Riddles Solutions 

 

1) Why is six afraid of seven?  

 

Answer: Because seven eight nine! 

 

2) Divide 110 into two parts so that one will be 150 percent of the other. What are the 2 numbers?  

 

Answer: 44 and 66. 

 

 

3) There are a mix of red, green and blue balls in a bag. The total number of balls is 60. There are four 

times as many red balls as green balls and 6 more blue balls than green balls. How many balls of each 

color are there? 

 

Answer: Blue balls = 15; Red balls = 36; Green balls = 9 

 

 

4) How many times can you subtract the number 5 from 25? 

 

Answer: After the first calculation, you will be subtracting 5 from 20, then 5 from 15, and so on. 

 

 

 


